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1. The paper has been divided into four sections — A, B, C and D.
2. Section A contains 24 questions. Attempt any 20 questions.
3. Section B contains 22 Questions. Attempt any 18 questions.
4. Section C contains two Case based Questions with 12 questions
Attempt any 10 questions.
5. Section D contains Questions 59 & 60 which are Map Based Questions. Both
the questions have to be attempted
6. All questions carry equal marks.
7. There will be no negative marking.



Section A

1. BT o AR G0 =0 3 forad a9 A9
WERICHEENGHRUNEHINIG]

1. Mesopotamian weapons were prominently made of
(a) bronze (b) copper (c) stone (d) iron.

2. 35 YR P e STaRT gRI g1RId fosan a1 bt Hid ol TR T

() B SUHRT| (@ Se il &1 Ao

(Hh R 1 ufean| @) Feprem &) debiiep |

2. The technological landmark witnessed by the urban economy of the city of Uruk was
(a) bronze tools. (b) construction of brick columns.

(c) potter’s wheel. (d) oil pressing technique.

3.2000 3971 g4 &, TGS St M6 IS4 & U H Hal-Gll e AT
(P) R (s ARy @h digTeiegr (S eIl

3. In the 2000 BCE, the city that flourished as the royal capital of Mesopotamia was
(a) Ur (b) Mari (c) Mohenjodaro (d) Kalibangan.

4. TAIUTCTIERT &1 M S 2370 3.9, § 3/ BT IIol &1, 98 T

(a) TTHRSR () Firermers (&) sRrat (&) e
4. The Mesopotamian ruler who became the king of Akkad, in 2370 BCE, was (a) Enmerkar
(b) Gilgamesh (¢) Hamurabi (d) Sargon

5.3 ........ &1 qdr ot
(@) <A (&) WR 3R g () gl (S AT

5. Inanna was the Goddess of
(a) the Moon (b) love and War (c) wind. (d) fire

6. Gieoft BdieTE o o QR AR o1 fFaior & fasar o
(T) 4000 1T Yd (&) 5000 ST gd (H) 6000 THT Td (S1) 7000 4T Gd

6. The earliest temples in Southern Mesopotamia were built in

(a) ¢.4000 BCE (b) ¢.5000 BCE. (c) c.6000 BCE (d) c.7000 BCE

7. TATOICTAT o YB3 [eRl & Al gR1 [Afta g dfer fRafafad 31
1. AT 113 11T IV ST



AL IL I, IV

B. 1 I, III
C.LII

D. 1L, IV

7. Main temples constructed by the people of early cities of Mesopotamia were the following.
[.Nanne II.Anu [I1.Enki IV.Inanna

AL IL L TV B. 1, ILIII

C.LII DII, IV

8. TRATICTIET &1 a1 fa=rsaT o1 g &-

- TRI &1 Ao gd Fafora Yot & Sraar foram mam |
- fafor o forg firet ot e o1 SeadTa oo T |

« JTABIRN TR U HioTel b o o8 T T T |

T12

a3

T had 2

Sl dhad |

8. What is NOT a characteristic of Mesopotamian civilization-
e Towns were constructed according to pre-planned strategy.
Mud bricks were used for construction.
Most of the houses were of single story having a courtyard.
1,2
1,3
Only 2
Only 1

o. AOYeTfHaT forft @t faiamy of:
1.9g figt o ugl R feram 7 |
gt g8 91¢ ¥ g forar a7 U7l
Al

B. B4 II

C.1 3R 11 g

D. $ad 3TH J PIs ol

9. Features of Mesopotamian script were:
L.It was written on clay tablets.
Ii. It was written from left to right.

QW e e

A1

B. Only II

C. Tand II both

D. Only None of them

10.. FafeRaa yeT &) ugam:
ag%@g&m@qﬁawmwﬁ%wﬁw%%w%%wﬁmé@
o |

A BRI B. 3RET C. SRMR® D. T



10. Recognize the following language:

It was a language of Hebrew and Arabic family or group of languages. This language can be
seen on the Ashokan pillars.

A Persian B. Arabic C. Aramaic  D. Turani

11. 431G & Jod 3R 3= & aR & fffEdar 5¢ g1 ot
A. 1391 921 B. 1441 92l €. 1591 9l D. 1641 Fal.

11. There was a growing uncertainty about the value and purpose of monasticism by the
A. 13th century B. 14th century C. 15th century D. 16th century.

12. T e (9ot fordiapT T9 UM
A. gy B. foram ¢. Rrew 3R ST D. Afg™

12. A guild was an association of

A .monks.  B.farmers  C. craft and industry D. lords
13. TR T RIS d Aargel, S hiiie e § Haiferd off, forerds gRi ferat 78 o
A. S BH B. 3fcidui SR BHTH

C. O HHRA D. Wi st

13. The famous book Feudal Society, which dealt with the French society, was written by:
A. John Cunningham B. Alexander Cunningham
C. James Cameron D. Marc Bloch

14. TRG = Yffy IUART H gikac "G1-&84 ¥ -7 gonel & g & GRHE ot
A. 1091 Tt B. 113} 9l C. 129t i D. 1391 g

14. Europe witnessed change in land use "switch from a two-field to a three-field system"
during tithe
A. 10th century B. 11th century C. 12th century D. 13th century

15. S GRTATSC BI &1 715 YA B PHgT S oT:
A.T%% B. 18 c. RER D. B9k

15. The land granted by the lord to the knights was called:

A. Fief B. Feud C. Seigneur D. Manor

16. T O Uep ITT | GIR I WR 71 &, T B JUCY < & 3R aF W IEd A1 39
g 31l o1 fob gy =T & ST ST Ut

A TR B. T C. GRHI D. IH

16. Monks who moved from one place to another, preaching to the people and living on
charity. These monks were known as
A. Manor B. Friars C. Tithe D. Serfs

17. 39 fagH &1 9 gd15t S/ ug db fear f& sfagr sad Iemifae sfag & ar
# 781 3 afcs 39 SieRfh Ty ofR wer aiil & Sita +f wfirer B

A. SIF] H-gH B. 3[CiduiSR HiHgH

C. S A1 D. AT sAlh



17. Name the scholar who argued that history is not all about political history but also
includes international relations and lives of great people.

A. James Cunningham B. Alexander Cunningham
C. James Bloch D. Marc Bloch

18. HASA WER & (AT BT I fhgep! ST &

A. PN TG H 3D IuS

B. MR 3R IYNT &I dgral o1

C. 4 P 3T & WTUR P Igral S o1 AT

D. R RY, SRR, sararial 3R 31 @1 gRT ARTEH 3R e |

18. Construction of Cathedral town attributed to

A. Higher yield in agricultural production

B. Promotion of trade and industry

C. Business promotion drive under the shade of religion

D. The contribution and subscription by craftsmen, artisans, merchants and common people.

19. T8 S TN & =mfdra o

A. Yy &1 iR

B. HRI g & f¢U Il §af &bl U
C. 5 BT HYUT Y

D. U 9q|

19. New agricultural technology was consisting of
A. reclamation of land

B. use of heavy iron tippedploughs

C. shoulder harness of bullock

D. all of them.

20. A H! R Al # Xg aTal el & fAuRid STy e X8 &1 fadhed AT
A. T B. T c. Rreq 3R 301 D, T

20. opted to live isolated in contrast to the clergy who lived in towns and villages.
A. monks B. farmers C. craft and industry D. lords

21 Fafafad T & e 3R ugam: 3 9 grdeHe =T a1 8 3 S8t ufiféa |
(ST SHTE SR TS € 3R 3fd 7 3% AR R1A €1 37 gR1 fasRd Iy
gad 3R DIa off, faT SraeR! W a8t THiHd Tl gRT <1 47 3iR 39 TSR, S8
TARSH foan|

U Ryey &t wreiiviiad

C. SHY R D. AT Y R &1 W

21.Read the following passage and recognize: These were the public places or areas where
the trained people (gladiators) fight wild beasts and finally, knock them down. The excellent
muscle power developed by them and the skill as well, was observed by the populace
gathered there, on special occasions and thus, they entertained.

A. Tacitus B. Colosseums

C. Domus Augustana D. Column of Marcus Aurelius



22,5119 7745, & &9 3R&l A ford 99 &R feam
1. T & fafdiey
11 TTTd & Thep,
111. 3eaht § anared
T, I, 10
&I 10
YL, 111
S
22.Who was destroyed by the Arabs between the period around 511 to 774 C.E.?
I. Visigoths of Spain
II. Franks of Gaul,
III. Lombards in Italy
A. LTI, I
B. IL III
C. LI
D. LI

23, BT & IR § 1 el I81 22
1.3 Tiferey (A &1 fdesn) U foan St A AHTsd &l 81 I & el
1L 39% I § 99 09 iR &g & i (U O 3R urit o1 fiyen) amues & u @ =i

fepy TQ 3|

1113817 Tt & YR el 1 Sgrar o= H 3iftres fawr fa
UL IL 100

LI

. 10, 111

ST, I

23.What is not correct about Constantine ?

I. He introduced solidus (the gold coin) which outlasted the Roman empire itself.

II. Oil presses and glass pictures (screw presses and watermills) were established amply
under his rule.

II1. He Invested more in the promotion of heavy industries in villages.

I, IL 111
I1I

11, T
1,100

SCawp

24, fop1 AfeTt A IW BT 3R A A9 JHTY Bt HATE §152

| ER 11 BId
1. g4 WK
LI

S LI

. 10, 111

SILIV



24. Which rivers made boundaries of the Roman empire from the north side?
I. Rhine II. Euphrates

III. Danube. IV. Nile

I,

I, 11T

11, 111

LIV

oo

25. M & YRS THTe & Ud 3R 9| & I il § 1= It UMY Srett ot &ff
A. T4 & 3 I M H Fiad 3R forgd 3, gd & T dfes J aiad SR farad |
B.UISH & 3= 77 e d diad iR forad 3, iy & an afed & siad iR forad 31
C.gd & 3@ I Wb T aiad iR ferad 3, ufdg o anT dfes 3 aiad iR farad 3|
D.Yd & I o difeT § aiad iR ferad 2, afEd & anT i & Siad SR forad 9

25.Which languages were spoken in upper classes in east and west of the early empire of
Rome?

A. The upper classes of the east spoke and wrote in Greek, those of the East in Latin.
B.The upper classes of the West spoke and wrote in Greek, those of the west in Latin.
C.The upper classes of the east spoke and wrote in Greek, those of the west in Latin.
D.The upper classes of the east spoke and wrote in Latin, those of the west in Greek.

26. TR RATSE! & A BT W S BT a0 T U J T dHe-R A o ST ST AT
ford...... o1 ST Ul

ASEHRT B.39d 20

C. STHRT D. 370 4 BIg 51|

26.The Spanish olive oil of the middle of the third century was mainly carried in a container
that was called

A. Amphora B. Dressel 20

C. Amphora D. None of them.

27 3T RIS IR 3MBIch! e o {210 Y

T 3f7ATeT o Sresiifar

. few 81 gfatsan

27.Saint Augustine was bishop of the North African city of
A. Annaba B. Algeria

C. Hippo D. Numidia

28.meﬁé¢rrs‘aﬁﬁ&nfﬁmh$uﬁaqﬁwww

A. 3[IdISY B. 3{H

C. BRI PEIN

28. The emperor who made Christianity the official religion in the Roman Empire was
A. Alexander B. Augustus

C. Constantine D.Nero



29. Jferad HioR &1 o1 g3

Tl 38 31 HiAd U I FIgR B & T T

B. 98 3fidcfau & T3l A RIS g3im T

C. 8 IUH! 5T IR 41 718 ot

D. I 38N & T T8 IS & U § Jg 8%

29. What happened to Julius Caesar?

He was voted out of his consul position
He was defeated by the forces of Octavian
He He was assassinated

died as the greatest ruler in Roman History

1 JE— H1TH 4fip! Bl SIS S 811 & fore Tefifa wedr g arfes 3= ugar
T 9 b 3 e HIT § 3R f5U 1 IR B B

A. 498

B. 298

C. 398

D. 198

OCOow>

30.A law of ---------- referred to workers being branded so they could be recognized if and
when they run away and try to hide.

E. 498

F. 298

G. 398

H. 198

31. IR WATBI3]l DI HH I AR He-
I A

1. 3fc

111 3§ St

IV.3YHH

AL IL I, IV
BIIL L, IV, 1T
CTIL IV, LTI
DIV, 1L 11, T

31. Arrange the four Caliphs in sequence-

I. Umar

II. Ali

III. Abu Bakr
IV.Uthman
A. LI 10, IV
B. III. LIV, II
C. 1L IV,LII



D. IV, IIL, LI

32. fFEfafed o O qev wiearc! swam & &1 B |
A. Tfcrfdd

B §TH!

C. Tt

D. gl

32. The most conservative among thethe following was the School of Islamic
Law.

Maliki
Hanafi
Shafii
Hanbali

Cow>

33. FEfeRad ® & I ST ST Bt Afefde Hid T8 & -
A. Thdre Id-gERT

B. 3(d-BTd-fhal-fssl

C. QMG

D. Sierel a1 fSH-T

33. Which one of the following is NOT a literary works of Islamic world :

Kitabal-Bukhara
Al-Qanun-fil-Tibb
Shahnama

Kalila Wa Dimna

Cowx

34. Recognize the following image-



Makkah
Medina
Kaba
Damascus

35 wmmﬁaﬁmm

aﬁaﬁﬁao—cﬂ
. ggere= Rae
S Rreera

35. The semi-historical works in the Islamic history area-
A. biographies

B. chronicles

C. eyewitness reports

D Inscriptions

36ﬂq@?«ﬂuﬂ§aﬁmﬁ&m¢ﬁwwﬂaﬁ®mﬁﬁ' foan
A

B HEMT

C. HapT

D THR%

36. Caliph Muawiya shifted his capital to
A. Rome

B. Medina

C. Mecca

D. Damascus

o0

37. Higal-Ad g, [l 3Ot Hiddrell §, SHR & 1Y UHaC BIdx 4R & Ul g UF
BT IUGY faar Ut

T fean

CIREIEN

1. Wi

SECHEN

37. The woman-saint sufi who, in her poems, preached intense love for God by uniting with
God was



A. Rabia
B. Aisha
C. Fatima
D. Khadija

38. Hag sxarHt Yffy & ufkaferd did o Riads &1 Hal Srar ot
ASTIRTg

B. By

c. fazgm

D. &A™

38.Copper coin circulated in the central Islamic Lands was called
A.denarius

B.Fulus

C. dirham

D. drachm

39. Tgad! ot

A. YT H 1 1T

B.YTE 39 &1 Ufa Gdah! o1 YT

C. GiRTH TG/ &1 U S

D. U 3Tl bl ATH |

39. Pahlavi was

A. language of ancient Rome

B. language of sacred books of ancient Iran
C. A ritual of Muslim Community

D. Name of a hospital.

40. S3fd-3rQ-fbaT AT . |

U, Uh YR

§ Th SRTYAT

C. T ARSI

D. T YEibTa] g faz gy |
40. Bayt-al-Kima was....

A. An auditorium

B. A Synagogue

C. A mosque

D. A Library cum Institute of Science.

41. FrgfaRed & gafad i
A T 3R IR+ 1. i3y
B bt 1. Hod P Th S

Y gicte J &9 T

C Tid 111 ST &1 g sl



D WS v i
A. A-1L, B-I, C- 1V, D-1II
B. A-1, B-1I, C- 1V, D-1II
C. A-111, B-I, C- 11, D-IV
D. A-I, B- 11, C-III, D- IV
41. Match the following-
A. Angles I. Knights
And Saxons
B. Fief I1. a tribe of central
Europe settled in England
C. Gaul I1I. a piece of land.
D. Feud IV. France

A. A-II, B-1, C- IV, D-III
B. A -L B-II, C- IV, D-III
C. A-TIL, B-I, C- I, D -1V
D. A-L B-1I, C-IIL, D- IV

42. JAFEH T & U T qaTg! & a1 U0 gl 4 T
A. B A D! famuford o= feam T o,

B. SFEET § gfg & URUTRa=T 4ffe! &t 4R HH 8 T8
C. B 3R & o9 FAfHa sRiqe,

D QT Aigd PV Idral & forg Hiad R 131

42. What consequences was not seen of the catastrophe in the form of bubonic plague?
A. A number of people were dislocated,

B. Increase in population resulted in a major shortage of labour

C. imbalances created between agriculture and manufacture,

D.prices plummeted for agricultural products including food grains.

43. S (T) JAU AT AT &) @rd § Ag@qul A 3
PR (IR) RH oA H, 59 IR T Yo §, o IR &1 Icera &3 8, ot 3id §

[
(A) ST (@) 3R (3R) TE & 3R (3R) (V) B e AR |
(B) Gl (T) 31R (3R) Wa1 3 3R (3R) (T) BT Yg! WHIHRU gl |
() (T T € b (31) Tl el ¢
(D) (3(R) TG § Al (T) Fet a1 5|



43. Assertion (A) Europeans considered Mesopotamian important on account

Reasons(R)In Old Testament, there are references about it, which refer to ‘Shimar’, meaning
the Sumer.

(a) Both (A) and (R) are correct and (R) is the correct explanation of (A).

(b) Both (A) and (R) are correct and (R) is not the correct explanation of (A).

(¢) (A) is correct but (R) is not correct.

(d) (R) is correct but (A) is not correct.

44, PG 391 () Tl Bt a1 H oI b1 70T G o B2

A. (H x 32/33) + 622 = C — Christian(C — 622) x 33/32 = H — Hijri
B. (H x 33/33) + 622 = C — Christian(C — 622) x 33/32 = H — Hijri
C. (H x 32/33) + 621 = C — Christian(C — 622) x 33/32 = H — Hijri
D. (H x 32/33) + 622 = C — Christian(C — 621) x 33/32 = H — Hijri

44. What is the calculation formula of Hijri vis-a-vis Gregorian Christian (C) years?
A.ltis — (H x 32/33) + 622 = C — Christian(C — 622) x 33/32 = H — Hijri
B.Itis — (H x 33/33) + 622 = C — Christian(C — 622) x 33/32 = H — Hijri
C.Itis—(H x 32/33) + 621 = C — Christian(C — 622) x 33/32 = H — Hijri
D.Itis — (H % 32/33) + 622 = C — Christian(C — 621) x 33/32 = H — Hijri

45. fpfafed & 4 S ofeq ofd-AfcTe & Ryads o1 faRivar 7et 82

A SN 3R BT TR B HINT & FU H U 3R STATH! a1 v fobar
B.39 91t ¥ §HR IR 91 # fixgd &g e Ul

C. 3N, Uelieh 3R Rrarerg stenfe Rgd (S Raw) ¥ St fey e

3R S R (drachm) AP SR THR01 H |

D! 7Terd g

45. Which one of the following is NOT a feature of Abd al-Malik‘s coin?

A. He adopted Arabic as the language of administration and circulated Islamic coinage.
B. It was called dinar in silver and dirham in gold.

C. The shape, symbol, and inscriptions were copied from Byzantine coin (denarius).
and Iranian coin (drachm) but in the Arabic version.

D. All are incorrect.

46 fFHffad &1 caafud &3
[ e

IL. T[T

111 gSIaR
IV 3TEuNg @ |

A LIILIV, I
B IILIIL IV
C ILTIL IV, I
DIIL 11, IV, I,

46.Arrange the following:
I. Senator



II. Slaves
II1. Equestrian
IV. Respectable section.

A LILIV,IT
B.LILIILIV
C, ILIILIV,I
D ILILIV.,I,

SECTION 3

F e (foare, senfudn oft & wme 9@ wafa) @ v e ¢
warefi & wwe ﬁm qfE (Nuclear l'umily)?ﬁ & Syl W S e
AR U VRN 921 31 39! UfEm S o0 wre- i & e 8 @ w5
4| fan wfear 1 wfe #a o # foame 8 wfwa @ faf & an o g8 JHEd
firett 21 foreme &3 %1 351 o AR o SoON Y AR A oM Ay F wen-fow ek
foare @& fom st wewfa 30 41 396 a1 & 99 & @M 9Y F FB IR A

9| 519 faar &1 w1 g 21 St oft, 9@ 3 9 F AR W IWH FH HEE-TTH
faan ST o 3R @ UHEIg d3a 9IS e o i fey wfer | s 9 92 2
4 FaaY F1 ITR TH o4 A1 off, @ 9y F1 Wk fuar g7 IWH! I 0 fewm
2 fean s en foan &1 R, UyeA, Ga ofE SHeh g & faerd 9

47- BT HAT & JHTS H fh g UHR & gRaR 319 42
) THd uRaR @ TTH A DTS TN

48- URAR BT GRITT S AT 2
@ foa @ @ Ferer (@& J

49- Thd URER &1 & 31 g2

@ Tt RedeR! & W1y te uRar|

@) H T 3eHt, 3P Udl 3R I WM 3

@) TS 3, ITH! Ual, 3P T 3R 3% g WA §
EhFEIADIS ol

50 - SR 1 T2




Q) TP TN &1 a1 (&) T Fall TR
&) T T &1 Rigep1 (D) T A1l ERT

51. faaTg o HY frgeT 3GM-UGH g3
(T) ITER CORE!
@) foRa (&) ST TS

52. TR 3R Y-S BT ATRY HI BT Y12
gfoa @ AiEhssida (@& gesd

We know from the legal texts that in Mesopotamian society the nuclear family was the norm
although a married son and his family often resided with his parents. The father was the head
of the family. We know a little about the procedure for marriage. When a declaration was
made about the willingness to marry, the bride’s parents gave their consent to the marriage.
Then a gift was given to the groom‘s people to the bride‘s people. When the wedding took
place, gifts were exchanged by both parties, who ate together and made offerings in a temple.
When her mother -in-law came to fetch her, the bride was given her share of the inheritance
by her father, the father‘s house, herds and fields etc. were inherited by the sons.

47- What types of families were common in the Mesopotamian society?
(A) Compound families (B) Combine families (C) Nuclear families
(D) None of these

48- Who was the head of the family?
(A) Father (B) Mother  (C) Elder Son (D) All of these

49- What is the meaning of a nuclear family?

(A) A family with all relatives.

(B) Comprises of a Man, his Wife and Children.

(C) Comprises of a Man, his Wife, his Children and their Children

(D) None of these

50 - What was denarius?

(A) A Gold coin (B) A Ruby stone
(C) A Silver coin (D) A Red diamond

51. what was exchanged at the time of marriage?

(A) gifts (B) chants
(C) inheritance (D) legal text

52. who used to inherit the house and herds?

A) Father (B) Mother  (C) Elder Son (D) bride groom



Yo% oAfad IR0 T @ GEal 91 99 Fe-3] W/, sfaey o wifE 59 3
arfa =afamal W iR fordl v st gfaay o o ges oz o) 2 3 e 7@ #51
gEa 4 o & a4 o e sfvem 9@ om 91 vl & o oft @it @ T facga
ST off 3R 3 MR el d wd 91 99 #i UE 94 & Fala § FE 9 5
IYHA F1 Al T A9 F1 AMFR 9 59 ‘A9’ (Tithe) F8d 91 €0 g0 HA
FEA AR T A fvded & Feam ¥ fom o aen 7@ oft s v
o o

53. fgforad 7 @ & 91 HY= T8t 82
(i) B BIs YOI &9 Tl g |

(ii) AGTY GoIRT 81 &+ Tl |

(iii) GOIR} fad18 R Tha A |

(iv) $7H Y IS T |

54. U1 Pl fard [T ST AT
(i) T8 (ii) dU=al (iii) fo=1T (iv) 7

55. Fafifad @ & fawg & IR § 9t T8 22
(i) 4 YR &R} § 3gd Y1

(ii) 3T U fa=mTet Y& ey ot

(iii) I8 T TSW AT ST T

(iv) 3TH Y BIS Tol

56. 79 B GRHI &b ¥U H IS BT foba-T fgxar feam mar ume

(i) 1/2 (ii) 1/3 (iii) 1/4 (iv) 1/10

57. fpdor fag SR AT IR & SITAR U9 & &vd A9

(i) 3799 BT o ToTU (if) TRIS AT o ToTd (i) XS4 o QW (iv) 74

58. faU 71U 3i=1 & SITIR AABIC XY BT TS TR H 2
(i) IR | (i) Ffeardl |
(iii) FOR| (iv) 379 J D13 g




Read the following passage carefully and answer the questions that follow:

Everyone could not become a priest. Serfs were banned, as were the physically challenged.
Women could not become priests. Men who became priests could not marry. Bishops were
the religious nobility. Like lords who owned vast landed estates, the bishops also had the use
of vast estates, and lived in grand palaces. The Church was entitled to a tenth share of
whatever the peasants produced from their land over the course of the year, called a tithe*.
Money also came in the form of endowments made by the rich for their own welfare and the
welfare of their deceased relatives in the afterlife.

53. Which of the following statement is correct?
(1) Everyone could become a priest.

(i1)) Women could not become priests.

(ii1) Priests could marry.

(iv) None of these.

54. Who were considered religious nobility?
(1) Monks (ii) Friars (iii) Bishops (iv) Nuns

55. Which of the following is not correct about Bishop?
(1) They used to live in simple houses.

(i1) They owned vast landed estates.

(ii1) They were considered religious nobility.

(iv) None of these

56. How much share of the produce was paid to the Church as Tithe?
(1) 1/2 (ii) 1/3 (ii1) 1/4 (iv) 1/10

57. for whom rich people used to donate money according to paragraph?

(1) for their own welfare (i1) for poor people  (iii) for the state (iv) Nuns

58. How was the religious system of medieval Europe according to the given excerpt?
(1) Progressive. (i1) orthodox.
(ii1) Rigid. (iv) None of these

Read the map carefully and answer the following questions:.



59. A is a capital city which was famous for its palace.
a)UR

b) Uruk

c) Mari

d) Babylon

60 .B in this place systematic excavation started in twentieth century.
a) Damascus

b) Macedonia

c) Ur

d) Constantinople



